Grade 9 Math Unit 6 Practice Test

NAME:;:

Selected Response

1. Which equation has x = 9 as its solution?
A)=8+11 f+8=11 C)3+8=11 D)x_+8_11
3 X 3
.(. R=1
15 3 = (1
2. Solve the equation: 5 = - 3+8F
1
yw=5 0O w=10 D) w=75
=13
3. Which equation repr ents 7 less than four times a number is 147

A) 7—4x = 14 B) 4x — 7 = 14 C) 4—7x =14 D) 7x — 4 = 14

?
4, Which selection is a solution of the inequality 11 > 3 — 2w ? 1 >'5._? (_3\
?
A) —6 B) -5 C) —4 1 >2+L’
| | - sl v
5. Which graph represents the solution of the inequality 4(—3x + 5) > 44?
A) T e S T '\1')(1-20 >L|'L‘
5-4-3-2-10 12 3 4 5 x
| -20 -20
B) i)
5-4-3-2-1012 3 4 5 x _\2 2
x > 24
C) €ttt —+—+—+—+—+—+— - -
) 5-4-3-2-10 12 3 4 5 x L \2
y4 L " L O | ! ' ! ! ! !
D)‘_'Sq_s_z_mlz“D [x <2
6. Solve this inequality: —14t+5< 17— 13t
+13t +3t
A) t<-12 (B) t>-12) 0 t<-2 D>t>—%
-1 +5<¢1Y

7. A hockey camp charges a flat rate of $52, plus $12 per day Chrls spent more than $136. Write an
inequality to represent the number of days, d, for which he attended the hockey camp.

A) 52+ 12d <136 B) 52+ 12d < 136 C) 52+12d = 136 ( D) 52+ 12d > 136))
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. Findnif4n— 16 36 Un= 52 lnz‘g'
t1 \@ - 4
A) 12 v (s 1)1 Yo D) 15

0. The Super Bowl is the most viewed sports event televised every year. There are over one billion
viewers every year. Which inequality describes this situation?

@ > 1,000,000,000 ) B)  x = 1,000,000,000

(0 x < 1,000,000,000 D) x <1,000,000,000

10.  Which number is a solution of 2x < x + 87 ~ & Q
- x - x -—
A 12 B) 11 O 9
Constructed Response Show ALL workings for FULL marks!!!

11. Circle and explain the error in solving this equation:

e v They did not multiply every Yerm

6x=4x+ 5 nside the brackets b‘j 3. The next

fx—dr=4x+5-4x

2x- 5 lme Should be : Gx-15=1-3x

x=2.5
12. Two cell phone companies both charge a monthly fee, plus a rate for the number of minutes used.
Ring-a-ling U-Talk
Monthly Fee - $25.00 Monthly Fee - $35.00
$0.15 per minute $0.05 per minute

Write and solve an equation to find the number of minutes that both companies charge the same amount.

F\'\nﬁ-o\-\'\mﬂ - U-To\¥
o5 105m = 39+0.05m
-0.05m -0.09m
A5t 0.\m = 35
-a5 95

Oln 10

o-t 0Ol

Both companies
Chavge the some

amount When
lﬁbu tallk on the

phone For 100mincle




13.

A)

B)

14.
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The cost to rent a banquet hall is $500, plus $35 per person. A company’s social committee has $4700 to put

towards renting a banquet hall.

Write and solve an inequality to find the number of people that could attend the function.

200 3%, < H7100

-500 - 500
3%p £ 4200
‘373E 39
Graph the inequality.

é‘m*“‘—Q—b—Q—Q—Q—O—N

Solve each equation. Show all steps.

A)=—3=-12
Y4343
A -9

X3 vy
5}_'_2_ 2..3&--‘—1-
Iyg 6 0 3 X2

‘57( 2 2% 4

6 6 6" 6

3x:2b
IS%x-2:22%+24 [ T 1
.1'x ‘21 I
A=2
1R%x-23=2Y4
42 +2

lgleG

D < \‘20]

No\-e -“\Q da‘m S
discrete. Sou

Connot hove
powt of o
P(J_YSOT\
B) 7x =10 — 3x
PFx 13
l()'x l0
\0 (0
xX=
D) 56
Lo
b=l
T _
— B
x="3-1319
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E) §+§é§ F) 4k + 2(k +1) = 3k + 4
x,22_ 3 IEVIRVERIN L
4 4 Y (D\(\.‘.'Z:%\ﬂ‘\'q
~t22= % “3K -3k
e - qk+2 =Y
2 2 2
15. Solve, and graph, each inequality. Show all steps 3(_‘&: % K = g
A) =5x+6 =31 B) -3x+7 < -5x—8
6 ¢ 9% Hhax
Sx 225 Ixt 4= 8
S-S -+ -3
Xf‘SJ Q-;(L‘E
a2
duprinl) > 34(_:"%
-3 %65 °Y 3 -2 - LI A—————>
vt "9 - "+ -6 -G
0 I43x <10 D) 2(6x —4) > 3(5x + 5)
N | XY \U
‘—L‘{.i'x(LLo ‘2X‘%>l5x+l5
R M -15x 719X
-3x-¥>\15
1413 £40 3% 8 4%
N -1y
! “3x >R
3x¢26 B
e %43
6 2 X443
[x¢ %<3 lF
PERISSSES S o W EIEPNME L s
6 3 ? q Y4 1 "R "t -6



